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The FORMIT Project 
•  The  FP7 project “FORest management strategies to 

enhance the MITigation potential of European 
forests” aims to develop forest management 
scenarios (namely Business as usual, Climate 
adaptation, Conservation, Bioenergy, Material 
substitution) for carbon sequestration in Europe, 
including mitigation measures and management 
strategies and taking into account also carbon 
storage in forest products and forest soils and 
substitution of fossil fuels through biomass  
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Classifying what we have: the Forest Units 

49 Forest Units 



Life cycle inventory development: the 
questionnaire 

•  System boundary: primary 
and secondary processes as 
defined by Klein (2015) till 
landing (cradle-to-gate)  

•  Geographic boundary: 28 European 
Countries by Forest Unit 

•  Geographic resolution: Forest Unit 
•  Temporal boundary: from 2010 to 

2100 
•  Temporal resolution: rotation length 

of the forest unit 



•  28 Countries 

•  173 (out of 237) 
actively 
managed 
Forest units  

 
•  1799 

Interventions 
characterized 

Identifiyng what we have: the European forests 



Life cycle inventory development: the modelling 

Planting/
manteinanc

e 

Thinning 

Felling 

Forest unit X/
Country y 

[impact/per 
time step] 

Intervention a 

Intervention n 

Intervention a 

Intervention b 

Intervention n 

Intervention a 

Intervention b 

Intervention n 

Foreground system: Questionnaire 
Background system: Ecoinvent 3.1, 
Agribalyse 1.2 

FORMIT forest 
landscape simulator  

• Forest Unit area 
• Age class 
distribution 
• Site index 
• Year 

• Area planted 
• Planting density 

• Volume 
removals from 
thinning 

• Volume 
removals from 
final felling 

• Machineries used 

• Productivities 

• Fuel consumption 

• Transport distances 

• Input used 

• Planting density 



LCA results: FU=m3 over bark harvested 



LCA results: FU=1 hectare of forest 



LCA results: FU=Co2 sequestered (NPP) 



•  Temporal explicit LCA can help to better understand 
dynamic/with long life cycle systems as for the forest ones  

•  Depending on the management types, species groups and 
geographical regions the impacts can be rather different 

•  The impact on climate change of the management is 
negligible compared to Co2 the sequestered by 
forests....BUT(!)….the picture is not complete without 
considering the other steps of the life-cycle of wood  

Conclusions 




